
SBI PO PRE MOCK TEST DAY 9



SBI PO PRE MOCK TEST DAY 9
SBI PO MOST EXPECTED PAPER 2023



SBI PO PRE MOCK TEST DAY 9

A sentence is given with four words marked as (A), (B), 

(C) and (D). These words may or may not be placed in 

their places. Four options with different arrangements of 

these words are given. Mark the option with the correct 

arrangement as the answer. If there is no change required, 

mark 'No rearrangement required' as your answer.
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Carbon dioxide emissions must equivalent (A) by the fall 

(B) of a global lockdown safe (C) every two years for the 

next decade for the world to keep within roughly (D) 

limits of global heating.

1. ABDC

2. CABD

3. BADC

4. BACD

5. No rearrangement required
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All these potential (A) brought in by the fintech startups 

transform (B) their innovations (C) to further indicate (D) the 

BFSI sector in India by making them more convenient, simple, 

and hassle-free.

1. CDAB

2. CADB

3. ABDC

4. BACD

5. No rearrangement required
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India is pinning(A) its hopes on the agricultural recover(B)  

to help the economy sector(C) after its worst (D) recession 

since the 1950s.

1. CADB

2. ABDC

3. ACBD

4. BADC

5. No rearrangement required
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From the options given below, select the option 

which states the correct set of sentences.
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A. Sitting on a crimson carpet on the long veranda, Vandana playing the veena, 

unmindful of the beads of perspiration sparkling on her forehead in the setting sun.

B. But these strong-arm tactics are like to fuel more anger and lead to clashes 

between the security forces and ordinary people

C. Not that a change of government will solve the economic situation, yet at the 

moment they want to make sure that the xyz brothers are out of power.

1. A and C

2. A only

3. A and B

4. B only

5. C only
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A. It can be a fresh equity offer when a company needs capital, or a offer for 

sale when existing investors of the company intend to part sell their stake

B. There is much to do in Goa beyond its sandy beaches, shacks and boozy 

evenings

C. As soon as the monsoon hits Gangtok there are numerous waterfalls that 

appear offering ample opportunities to undertaken a trek.

1. A and C

2. B only

3. A and B

4. B and C

5. C only
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A. The Supreme Court is set to regain its full strength of 34 judges with two 

fresh appointments to the top court

B. The main objective of successive rounds of the NFHS has been to 

provide reliable and comparable data relating to health and family welfare

C. The Tamil Nadu government would explore the possibility of expanded 

civic amenities available in Madurai city to its peripheral area.

1. A and B

2. C only

3. B and C

4. B only

5. A only
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A. Every token has a unique identity on the blockchain that allows 

people to tie unique assets to them.

B. Some industry experts believes that the NFT market has slowed 

down a bit because of the global uncertainty

C. It is essential for investors to do their research and due diligence 

for investing in a particular business.

1. B and C

2. A only

3. A and C

4. A only B

5. C only
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Given below are five scattered segments of a sentence. Indicate 

the correct sequence which correctly assembles the segments and 

completes the sentence.
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A. addressing subtle workplace discrimination 

B. an inclusive and productive environment

C. based on family status and promoting 

D. that values diverse contributions

E. equal opportunities is crucial for fostering 

1. ACEBD

2. CBEDA

3. BCAED

4. DCAEB

5. ABCED
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A. conventional retirement beliefs, highlighting 

B. the new-age approach challenges 

C. like social media and sharing wisdom

D. even in senior years, through activities 

E. the importance of staying engaged, 

1. CAEDB

2. EDCBA

3. BAEDC

4. BEDAC

5. ACEBD
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A. and the rising threat of cognitive warfare

B. the profound implications and vulnerabilities 

C. recent advances in AI have sparked interest, 

D. associated with the complex digital infrastructure 

E. but there's a lack of understanding about 

1. BACED

2. CEBDA

3. BAEDC

4. DACEB

5. CBAED
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A. declines without adaptation measures

B. with India projecting substantial crop yield 

C. small-scale farmers worldwide, 

D. pollution, and climate change threaten 

E. decades of poor water management, 

1. CAEDB

2. EDCBA

3. DCEAB

4. ABCDE

5. BEDAC
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A passage is given below with five blanks labelled (A)-

(E). Below the passage, five options are given for each 

blank. Choose the word that fits each blank most 

appropriately in the context of the passage, and mark 

the corresponding answer.
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The WTO was founded in 1995 as the ___(A)___ organisation to the 

General Agreement on Trade and Tariff (GATT). GATT was established in 

1948 with 23 countries as a global trade organisation to administer all 

multilateral trade agreements by ___(B)___ equal opportunities to all 

countries in the international market for trading purposes. WTO is expected 

to establish a rule-based trading ___(C)___ in which nations cannot place 

arbitrary restrictions on trade. In addition, its purpose is also to enlarge 

production and trade of services, to ensure ___(D)___ utilisation of world 

resources and to protect the environment. The WTO agreements cover trade 

in goods as well as services to facilitate international trade (bilateral and 

multilateral) through the removal of tariff as well as non-tariff ___(E)___ 

and providing greater market access to all member countries.
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The WTO was founded in 1995 as the ___(A)___ 

organisation to the General Agreement on Trade and Tariff 

(GATT). 

Which of the following words would most appropriately fit in 

the blank (A)?

1. Procedure 

2. Successor 

3. Predecessor 

4. Primitive 

5. None of the above 
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GATT was established in 1948 with 23 countries as a global 

trade organisation to administer all multilateral trade 

agreements by ___(B)___ equal opportunities to all countries 

in the international market for trading purposes. 

Which of the following words would most appropriately fit in 

the blank (B)?

1. Quashing 

2. Compressing 

3. Retracting 

4. Providing 

5. Extracting 
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WTO is expected to establish a rule-based trading ___(C)___ 

in which nations cannot place arbitrary restrictions on trade. 

Which of the following words would most appropriately fit in 

the blank (C)?

1. Regime 

2. Reign 

3. Irony 

4. Absurd 

5. Tycoon 
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In addition, its purpose is also to enlarge production and 

trade of services, to ensure ___(D)___ utilisation of world 

resources and to protect the environment. 

Which of the following words would most appropriately fit 

in the blank (D)?

1. Profound 

2. Immense 

3. Optimum 

4. Scarce 

5. Prohibited 
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The WTO agreements cover trade in goods as well as services to 

facilitate international trade (bilateral and multilateral) through 

the removal of tariff as well as non-tariff ___(E)___ and 

providing greater market access to all member countries.

Which of the following words would most appropriately fit in 

the blank (E)?

1. Bereft 

2. Barriers 

3. Regulations 

4. Catalysts 

5. None of the above 
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